Parts List ..x

A DUEN

Model: AD230RSL-T IR—YJRAR3—F 523510
AD230RSG-T

Q = ULEAETR

MARLIYAMA MFG. CO.,INC. 2012. 10,



HaTRODITHERIZDINT

1.

o 0 & 0N

MDD TEXDIEIE

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R DR TR E SRS,

MamlEwnd THRILFIESR ] Z23HERATIZEL,
AERRIFEBLEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASARM—=UIZ Fig. XXSRBERRLTHYFET, <D XX [FAFAM—=D
ELORBLEZSERLFET .

=P s
AD230RSL-T

L U S 1~2
AD230RSG-T

A N 7. NS 3~ 4
AD230RSL-T, AD230RSG-T TV

KN M2 Ly SUV) B2 S B O |V 5~38
VY e B 100 e B 9 ~ 10
5 F¥TLA, ITVU—F. Ta—TIAUY e 11~ 12

AD230RSL-T, AD230RSG-T
B. AT BAR oot 13~ 14






1. AD230RSL-T

K




A:AD230RSL-T, B:AD230RSG-T

BHES | HRES %8 & W . s B =
1-1 363984 | AD230RSL-T 1
1-2 817002 | 6 hY& Wb (+)WSW 4 M5x20
1-3 096042 | 6 hY& L+ (+)WSW 1 M5x30
1-4 233768 | #7YFr—A934T 1 5~ 9749
1-5 221474 | 139Fh—2 1
1-6 016405 | A TYVY 1 #6200ZZ
1-7 013825 | C h™4rA7) 1 #30
1-8 233769 | 179YFF LTI 1 54XSP
1-9 014210 | C h'4hAD) 1 S10
1-10 | 227825 | T'ur%Yh 1
1-11 223252 | K )YUN4hUvbA 1 24XT1.2X1450
1-12 | 211736 | kv44=%"B 1
1-13 | 211737 | N'UN 2
1-14 | 054691 | WWht4y 9347 1 15794
1-15 | 089738 | 6 oK Wb (+ 77 EYL) 1 M5x15
1-16 | 232880 | AAYMLLAN'— 1
1-17 | 219394 | AOYMLI{¥ 1 365L 1/0 68
1-18 | 213548 | ANk "—MF1-7 1 3t 10 200L
1-19 | 228077 | ¥ ¥h—R9347T 1 20 ~ 26 7914
1-20 | 234247 |6 HH& Wb 1 M8X8
1-21 092550 | 6 Yk Lk (+)SW 1 M5x25-7T
1-22 | 212986 | NE/K'A A 1
1-23 | 219195 | AE/IKAB 1
1-24 | 215610 | 6 H4& Lk WSW 1 M8x22 t4')
1-25 | 222128 | 349+ K9ony 1
1-26 | 222129 |4YE'Vv2y” 1 5x20
1-27 | 089737 | 6 9K Wb (+ 77 EYL) 1 M5x12
1-28 | 220549 | F194v—4 1
1-29 | 233774 | %—L7°L—} 1 AD230RSL-T
1-30 | 231654 | nNJT—7 1 ECO
1-31 222059 | K'IVUIL—7 NN VIZET 1 32,33 791
1-32 | 126993 | 6 HHFWb 4 M5
1-33 | 222142 | FA %Y (H)W 4 M5x28
1-34 | 220533 | h4hTnN U 9347 1
1-35 | 222821 | ¥ 3AYAVAN—H34T 1 36,37 794
1-36 | 212994 | AN =V r95h+h" 1
1-37 | 092561 |6 Hylk b (+)SW 2 M5x25 77 Yk
1-38 | 227509 | FY7Y-9 1




2. AD230RSG-T
% NIZ




A:AD230RSL-T, B:AD230RSG-T

BHES | HRES w8 & s ' B =
2-1 364007 | AD230RSG-T 1
2-2 817002 | 6 HY& Wb (+)WSW 4 | M5x20
2-3 096042 | 6 hH& L+ (+)WSW 1 | M5x30
2-4 233768 | #7YFr—A934T 1 |5~9794
2-5 221474 | 139Fh—2 1
2-6 016405 | A 7YYy 1 | #6200ZZ
2-7 013825 | C h'4kA7) 1 | #30
2-8 233769 | 17YFF LTI 1 | 54XSP
2-9 014210 | C h"4rAT 1 |S10
2-10 | 227825 | F'UNY9YY 1
2-11 223252 | K9V UN4hUbA 1 | 24XT1.2X1450
-12 | 211736 | Kv494=%") B 1
-13 | 211737 | UM 2
2-14 | 054691 |YUhToH347 1 |15 7494
2-15 | 089738 |6 hok' Ik (+ 77 EYR) 1 | M5x15
2-16 | 232880 | ARYRLLN— 1
2-17 | 219394 | ZAYFILTA¥ 1 | 365L1/0 68
2-18 | 213548 | N5 —+F1-7" 1 |3t 10 200L
2-19 | 228077 | ¥ ¥Yh—R4934T 1 |20~ 26 794
2-20 | 234247 |6 h9E b 1 | M8X8
2-21 092550 | 6 Yk Lk (+)SW 1 | M5x25-7T
2-22 | 212986 | NE/RRA 1
2-23 | 219195 | nE/K'AB 1
2-24 | 215610 | 6 9K Lk WSW 1 | M8x22 4™
2-25 | 222128 | YR HIVNY 1
2-26 | 222129 | 4YE"vRY 1 |5x20
2-27 | 089737 |6 hHK Wk (+ 77 EYR) 1 | M5x12
2-28 | 220549 |F19{v-Y 1
2-29 | 233778 | #—=L7L—b 1 | AD230RSG-T
2-30 | 231654 | n\Jv—=4H 1 |ECO
2-31 211735 | KU44=%"1) A 1
2-32 | 211737 | UM 2
2-33 | 220533 | h&hHN UM 94T 1
2-34 | 222821 | Y AVAVAN-H34T 1 |35,36 794
2-35 | 212994 | AN=Vr 950t 1
2-36 | 092561 |6 f%F Lk (+)SW 2 | M5x25 77°€Yb
2-37 | 227509 | ¥Y7"Y-9 1




3. AD230RSL-T, AD230RSG-T I Py
DS —R, DYUE . aAdI)L




A:AD230RSL-T, B:AD230RSG-T

BHES | HRES w8 & W A@ﬁ ' B =
3-1 859087 | IVY'Y 1 CE230/53
3-1 859088 | IVY'Y 1 | CE230/53
3-2 286309 | VYv4au7)—h 1 1
3-3 286074 | B AhYb 1 1
3-4 261250 | 6 h97F+Y+HK Lk WSW 4 4 | M5x20
3-5 265802 |{yy1lL—4 1 1
3-6 267049 | I ANYE 1 1
3-7 265924 | 411 2 2 | M5x0.8x25
3-8 288182 | ¥757+tV7"Y 1 1 [9~12744
3-9 288180 | v772v7Y—b 1 1
3-10 | 287254 | h'Ahwb 1 1
3-11 268171 | 74l 1 1
3-12 | 265107 |6 W97 +Y%750 K Lk 2 2 | M4x10
3-13 | 281443 | 77 AN — 1 1 | 74ML—
3-14 | 281440 | h'A4wb 1 1
3-15 | 266402 | 249Y1 2 2 | M5x55
3-16 | 281446 | 7U5—hn'— 1 1 |4nA
3-17 | 269827 | FA 1%y (+)WSW 1 1
3-18 | 288800 | b7 hnN—=T7+y7") 1 1 119 ~ 22754
-19 | 281444 | M7 Hhn - 1 1 |7h
3-20 | 286300 |/7°YhA 1 1
3-21 261020 | AN —# 1 1
3-22 | 261734 | H)Y7°FAD 1 1
3-23 | 289246 | 473uh9h—-A 1 1
3-24 | 280488 | ATYUY 2 2 | PPL 6001
3-25 | 261492 | A4LY—I 1 1
3-26 | 261386 |A4ILY—I 1 1
3-27 | 055185 | C h'4rAT 1 1 | 7FH37 28
3-28 | 261612 | 6 HHY7+YFH b WSW 3 3 | M5x30
3-29 | 269705 | 3A) 1 1
3-30 | 268032 |E'Aby 1 1
3-31 282177 | E'AMIUY” 2 2
3-32 | 261036 |E'ARVEY 1 1
3-33 | 263957 | =—FMILATYVY 1 1
3-34 | 261576 | #—49v7° 2 2
3-35 | 268187 | 9709Y%7b3077)—F 1 1
3-36 | 284786 | 439FTtY7) 1 1 |37 ~ 39744
3-37 | 284702 | H439FFK A 1 1
3-38 | 284787 | 439Fva 2 2
3-39 | 286554 | A7YuY 2 2
3-40 | 284706 | A7y 1 1
3-41 284704 | 7YY 1 1 |5.1x14x1.2
3-42 | 285220 | A49Y1 1 1 | M5x10
3-43 | 269831 | FA3%Y (+)WSW 4 4 | M5x20WSW
3-44 | 287896 | ¥y &b 7EYTY 1 1 |45 ~ 53 744




3. AD230RSL-T, AD230RSG-T I Py
DS —R, DYUE ., aAdI)L




A:AD230RSL-T, B:AD230RSG-T

BHES | HRES w8 & A‘m ' B =

3-45 | 287900 |MO-%4 1 1

3-46 | 281705 | 44 =9Ava(NTEY7Y 1 1 |47 ~ 53744
3-47 | 281706 |34l 1 1

3-48 | 281707 |31-F7+ty7) 1 1 49 ~ 51 794
3-49 | 261074 | '3 %¥V7’ 1 1

3-50 | 261075 | 7Y% 1 1

3-51 281709 | 31—} 1 1

3-52 | 261072 | ¥¥v7’ 1 1

3-53 | 280080 | F1-7 1 1

3-54 | 261076 | nUF WE— 1 1

3-55 | 284703 | Y¥7b 1 1

3-56 | 280381 | AA™—# 2 2

3-57 | 261256 |6 HYT7HYFH I WSW 2 2 | M4x25

3-58 | 286739 | AN=497"3Y 1 1 | CJ6Y

3-59 | 263804 |-} 1 1

3-60 | 268044 |-} 1 1 | 135M4_CBH
3-61 269189 | #'AAYk 1 1

3-62 | 264588 |H7v7 1 1

3-63 | 269824 | 3N 1 1




4. AD230RSL-T, AD230RSG-T T Pv
JaA JLRAR—A

17



A:AD230RSL-T, B:AD230RSG-T

HHEES | HRES 08 LW &% B o=

283476 | IV A4—-4T7 17"
283477 | A4—47+1U7)
283504 | 1)—=)L

283505 | L7 L—F

283506 | 4 UINARIUY

2~12794
3~ 11794

| |

OB WN —=
O b -
—_ et e o [P

280931 | ANAFWART YUY
267213 | tYbRYY1
283578 | O-77+tV77)
283579 | A4—4n-7°
261725 | A4—4)7

| UL
— OO J®
o

9~ 11794

— )t — —)
[ G G I G —y

283511 | A=7° Ak

283575 | A4—47"—-17tY7")
284698 | 74747tV
283391 | A%l

265726 | 6 H9TTYXHR VP WSW

M4x20
M4x16

—L—L—IL—L—L
OB WN —=
AN =
AN = =

—y
Y

282096 | 2%')a M4x16
289210 | 7~ 1 1 | AGRI/AD230RS-T

S~ L i -h-l?-h-h-h e i

LA
~N o

-10 -



5. AD230RSL-T, AD230RSG-T T >V

F¥ILAE, TT7V)—F. Ta—TILEVY

-11 -



A:AD230RSL-T, B:AD230RSG-T

BHES | HRES w8 & A@ﬁ ' B =
5-1 282331 | Y7 L47t€U7Y) 1 1 |2~ 20794
5-2 264155 | KUK T4 1 1
5-3 262991 | N—=VK T4 1 1
5-4 262992 | kU7 hin— 1 1
5-5 261874 | 7'94% 1 1
5-6 283905 | 4°4¥77L 1 1
5-7 262993 | B ANYE 1 1
5-8 262994 | °4¥77L4 1 1
5-9 282576 | B ANYb 1 1
5-10 | 268574 | 'IYh 1 1
5-11 261871 | O Yuy 1 1
5-12 | 261876 |Yv7 1 1
5-13 | 261658 | A4A')L 1 1
5-14 | 261875 | A49Y1 2 2
5-15 | 264677 | 7°345Yk 1 1
5-16 | 261878 | Y+ 1 1
5-17 | 263994 | 249Y1 1 1
5-18 | 261657 | Nty 1 1
5-19 | 262996 | 249Y1 4 4
5-20 | 264678 | 7Yy¥ 1 1
5-21 287644 | H'AhYb 1 1
5-22 | 289218 | 4—AT7+tV7 1 1 |23~ 29744
5-23 | 269026 | F—ZFKT{ 1 1
5-24 | 289019 | AL 1 1
5-25 | 284803 |Ln— 1 1
5-26 | 284816 | 7YYy 1 1 |6.4x11x0.15
5-27 | 269032 | 249Y1 1 1
5-28 | 126993 |6 YTk 1 1 | M5
5-29 | 269051 | &Al-7' 2 2
5-30 | 281777 | +A" 3%y (+)WSW 2 2 | M5x55WSW-7T
5-31 269030 | ILAvh 1 1
5-32 | 269027 | H—Fhn— 1 1
5-33 | 269031 | %Y1 1 1 | M5x12
5-34 | 287866 |4V97tY7) 1 1 |35~ 45744
5-35 | 287646 |71-Il4vY 1 1
5-36 | 281565 | 4v9%¥v7°7ty7"Y 1 1 37794
5-37 | 269377 | 'YXy 1 1
5-38 | 261696 | 7°)—%#434T 1 1
5-39 | 265752 | #Y)AYNATTEYTY) 1 1 |40 ~ 45794
5-40 | 264031 | NA7H34F 1 1 |41 ~ 43794
5-41 261115 | 4'AAYk 1 1
5-42 | 261690 | #YY)AUN47 1 1 | 160L
5-43 | 263038 | A—nN70—NA{7 1 1
5-44 | 264653 | 7ALATtY7 1 1
5-45 | 261117 | 497’ 1 1

-12 -



5. AD230RSL-T, AD230RSG-T T >V

FyILAE, TT7V)—F. Ta—TILEVY

-13-



A:AD230RSL-T, B:AD230RSG-T

HHEE | MRES 08 LW A@ﬁ ' B =
5-46 | 269828 | FA14Y (DW 2 | 2 | M5x16W(11.6x1)
5-47 | 281208 | FA'TY (HW 111 | MBx16W A% (116)
5-48 | 281596 | 3l 111|735

-14 -



6. AD230RSL-T, AD230RSG-T
/&

-15-



A:AD230RSL-T, B:AD230RSG-T

HaEs

B M &

Sk

>

& &

221460
220534
210418
219431
022865

233997

HI AN %
nhiv—
IVE R YIRANT
6 NYRIANT
JA9GFANT

MTIRLEY AT

— )t — —h —)

— ek )t )t ) >8]

AN 3
8x10

-16 -



22 LU EThH
BHERERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2012-10.J

EHENEETY



